Algebra I This is a samp
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An object that is projected straight downward
with initial velocity v feet per second travels a
distance s = vt + 1612, where f = time in seconds.
If Ramon is standing on a halcony 84 feet ahove
the ground and throws a penny straight down
with an initial velocity of 10 feet per second, in
how many seconds will it reach the ground?

A 2 seconds
B 3 seconds
C 6 seconds
D 8 seconds
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The height of a triangle is 4 inches greater
than twice its base. The area of the triangle is
168 square inches. What is the base of the
triangle?

A Tin

B 8in.
C 12in
D 14in.

CSADDIN

76

A rectangle has a diagonal that measures

10 centimeters and a length that is 2 centimeters
longer than the width. What is the width of the
rectangle in centimeters?

A 5
B 6
C 8
D 12
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